


ELECTRICAL COMPONENT BOX - GASOLINE VEHICLE

ITEM PART NO. DESCRIPTION QTY
123 4
1 1015752 Screw, #12-16 X 0.625 Hi-Lo 1
2 101827601 Elec Component Box Asm, Ds (includes items 3 through 32) 1
3 1010954 Stud, 1/4-28 X 0.560 Ball 1
4 1012295 Fuse, 10-Amp 1
5 1012431 Washer, #4 Flat 2
6 1013589 Ring, 0.338" Internal Retaining ... 1
7 1013609 Solenoid, 12-Volt 1
8 1014065 Washer, 0.38" ID Delrin Flat 1
9 1014119 Wire Assembly #6 Red 1
10 1014145 Bushing, Secondary Weight, Split 2
11 1014807 Switch, Limit 1
12 1014808 Switch, Limit 1
13 1014948 Diode ......... 1
14 1015371 Box, Electrical Component 1
15 1015372 Cover, Electric Box 1
16 1015373 Cam, Electric Box 1
17 1015405 Bolt, Carriage, 5/16-18 X 2.0 1
18 1015737 Wire Assy, #10 Red 1
19 1015741 Fuse Block 1
20 1015752 Screw, #12-16 X 0.625 Hi-Lo 4
21 1015878 Screw, #4-40 Hex Head Machine 2
22 N/A Wire Assy, #16 Orange 1
23 101821301 Bell Crank Weld Asm 1
24 101856102 Screw, 1/4-15 X 1.50 Hi-lo Hex 1
25 102711201 Voltage Regulator 1
26 103332302 Assy Wire Harness Gas Ds Kit 1
27 1242 NUL, 5/16-T8 HEX eurerrereererrreersrerssesssessssssssssssssssssssssssssssssssssssssssssssssses 2
28 7893 Nut, #10-32 Hex ...... 2
29 8057 Nut, #4-40 HEX MAChING v 4
30 8058 Lockwasher, #4 Split 2
31 8717 Locknut, 1/4-28 NYION INSEIT ...vereerereerecrsseisssiesseensesesssseanns 1
32 8990 Tie Wrap, 8" NYION ...recereeereeinecieeisseeesseesssesssessseessseseanes 2
33 1241 Washer, 5/16 Type A Flat 2
34 7473 Locknut, 5/16-18 Nylon Insert 2
35 7818 Bolt, Carriage, 5/16-T8 X 1.5 ..errreressissssssesssssssssssssssssssssssssssssssssssssssssssssens 1

2009-2011 DS Golf Cars lllustrated Parts List Page 6-7



